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Remember pre-decimal currency?   If you do, you’ll be able to solve this 
puzzle.   The total at the bottom will help to check if you are right!

Do the puzzle individually, or in teams, good luck!   The solution is also 
attached.

Happy and blessed Christmas and New Year to you all - Naomi Hancock

£ s d
A bicycle
A stone
A kind of pig

A girl’s name
Sun, moon and Mars
50% of underwear
Hit repeatedly

Unwell sea creature
A singer
A hairstyle
Royal adornment

Leather worker
Recent TV Agatha Christie character
Part of a primate’s leg

Total 32 17 11 1/2



Answers
You might have to think about some of them!

£ s d
A bicycle (penny farthing) 1 1/4
A stone (14 lbs) 14

 A kind of pig (guinea) 1 1
 A girl’s name (Penny) 1
Sun, moon and Mars (3 far things) 3/4
50% of underwear (half a knicker) 10

Hit repeatedly (pound) 1
 Unwell sea creature (six quid) 6
A singer (tenner) 10
A hairstyle (bob) 1

Royal adornment (crown) 5
 Leather worker (tanner) 6
Recent TV Agatha Christie character 
(Tuppence)

2

Part of a primate’s leg (ha’penny) 1/2

Total 32 17 11 1/2


